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SECONDARY SCHOOL EXAMINATION - 2021 (ANNUAL)
SCIENCE (Optional Compulsory)
fagm URos sfar)

G YTl DI & — 80+24+6=110

Total No. of Questions - 80+24+6=110

whg : 2 ©¢ 45 fie quiid : 80
Time : 2 Hrs. 45 Minutes Full Marks : 80

=g <91 : General Instructions :-

1. qeTeft IV U Ieal H B STR S |

Candidates are required to give their answer in their own words as
far as practicable.

2. IR iR ERR W RY gu ofe e e e ¥
Figures in the right hand margin indicate full marks.

3. 9 U UF Bl FYAD UeH & foly Rl T 15 Me &1 faRad
|qHy e w7 |

15 minutes of extra time have been allotted to the candidates for
reading the questions carefully.

4. qE YT-UF &I WUS| H T, WUS—3 Ud WUs—9 |
This question paper is divided into two sections - Section-A and

Section-B.

5. Yue—3 ¥ 80 IS UL B | 599 ¥ sl 40 Ul P IR <1 T
UAd U b g 1 e FEiRa g1 I Prg uwdemedi 40 A e yel

P SR <Al & Al U2H 40 Ul & IR &I 2] qAid 81T | DT SR

QUAF PR ¢ OMR STR-9a% # U T | g &l el / Fled
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dfd U | W | fHI W UBR & gReR /TR U /=l s /A TS
BT OMR STR—UFH H YT HRAT FAT 8, 3IAT GRem URomH S| =y

BT |

In Section-A, there are 80 objective type questions; out of which
any 40 questions are to be answered. If a candidate answers more
than 40 questions, then answers of first 40 questions will be
evaluated only. Each question carries 1 mark. Darken the circle
with blue/black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/liquid/blade/nail etc.

on OMR Answer Sheet; otherwise the result will be invalid.

6. Gue—q H 24 ofg IR U ¢ | s us [Aug «ifce s, 93+

IMNE UG oiigd fdsi & 3M6—3le U3 2| Udd fawy «ifde I,

AT IR U9 Siid fasM 9@ IR—IR U3 &l SR ST 2| Udd B

foru 2 s fRuiRa 21 39 sifaRed o1 @ve & 6 <1 SO uea o

U g 9 H 9 2 g3 difde I @, 2 U9 W IR & U9 2 U
S fagm & 1 9ifde s & <1 SO uea & forv 6 8, rad
I TG g fag= & fow 5-5 i fAuiRa €1 e fawa Yifas

MM, XTI QATHA QE[ \ﬂ‘\ld Irasllﬂ ?éf Uh—Udh Y39 dhl 3N -l C’HI?‘Iala
=

In Section-B, there are 24 short answer type questions. Out of
which each subject (Physics, Chemistry and Biology) consists of

eight questions. Four questions are to be answered from each

2
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subject Physics, Chemistry and Biology. Each question carries 2
marks. Apart from these, there are 6 Long Answer type questions
two each from Physics, Chemistry and Biology. Long Answer Type
questions from Physics carries 6 marks each, and from Chemistry
and Biology carries 5 marks each. Answer of one question each
from Physics, Chemistry and Biology is compulsory.

7 fodl PR & Soldgi=d USRI & FANT goiaar afsid 2 |

Use of any electronic device is strictly prohibited.

¥Yus—3[ / Section A

axdf~ss 939 / Objective Type Question

U AT 1 W 80 T RIS U g1 TH W fbwel 40 Ul B SR o1 © |
IS U & A1 AR f[dden Ry U & 594 9 U |81 | U §RT g ¢ Hal
fdpea o1 OMR e R fafed #X | 40 X 1 = 40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40

1. 5 U @1 ®IHA G FRUMHD BT § °
A. FATA TYT B. 3ddel gYr

C. SId gyur D. S99 ¥ ®Is g8l

The focal length of which mirror is negative ?
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A. Plane mirror B. Concave mirror
C. Convex mirror D. None of these
2. Tl A B g () 3k amar Ao (R) # @ e R 2
A f=R B.f=R/2
C.f=2R D.f=3/2R

What is the relation between focal length (f) and radius of

curvature (R) of a mirror?
A f=R B.f=R/2

C.f=2R D.f=3/2R

3. A gfte @ forg e gfte @ REaH g9 § —
A. 25 HIcx B. 25 A Hiex
C. 25 Hell Hiex D. 379 & @13 78l

The least distance of distinct vision for the normal eye is

A.25m B.25cm
C.25mm D. None of these
4, TId YTl B DI A 7 (@00) fhdl U9 | I[OReT & yganq qad HH
gl B ?
A. ST B. e
C. drdd D. dretr
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Which colour of white light bends least when the light passes

through a prism ?
A. Violet B. Blue

C. Red D. Yellow

5, AT 3T @1 ST gRT §918 T3 Bfd 8l & |

A, 3T QR e B. adfde 30X Iocl
C. Il 3R FoeT D. arxifas 3R e

The image formed on the retina of human eye is -

A. Virtual and erect B. Real and inverted
C. Virtual and inverted D. Real and erect
6. BT BT T el Ui 2l 28—

A. U B IRIGAT B BRI B. YT & Yo b BRI

C. YbI¥ & U & HRUT D. 399 A PIs A8

The colour of sky appears blue.
A. Due to reflection of light ~ B. Due to scattering of light
C. Due to refraction of light  D. None of these
7. b qUor 9 g% &1 uffew g1 gar & ?
A. FATA TYT B. 3radel gUr

C. ST gyul D. S99 ¥ ®Is g8

Which mirror makes a large image of the object?
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A. Plane Mirror B. Concave Mirror

C. Convex mirror D. None of these

8. fF=feriRad # ®F A1 o Mac—3gfe 3w & 3% a7 & forg STamT

fopam ST 8 7
A ITd o9 B. 99T of
C. 3add oig D. 5974 9 ®Is Al

Which one of the following lens is used to correct short

sightedness ?

A. Convex lens B. Plano Convex lens

C. Concave lens D. None of these

9. fifd # & B SUSRYT fgd oRT @1 SuRefa qeriar § ?
A freaieR B. #rex
C. SIFIReR D. dlecHiexr

Which of the following instrument detects the presence of electric

current ?
A. Galvanometer B. Motor
C. Generator D. Voltmeter

10. IR BT B IS b R bl fha yfquried fbar or ?
A IS B. eIl

»



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BEYWUS
C. Jg= D. #aqda
Who stated the “Right Hand Thumb rule” ?
A. Oersted B. Fleming

C. Einstein D. Maxwell

11, faaray &1 S.I. 9196 BIdT € —

A. drce B. 3w

C. TaRR D. dotH
The S.I. unit of Potential difference is

A. Volt B. Ohm

C. Ampere D. Coulomb

12. fr=forRea & foa Fao™ gRT UfoRIy &1 A9 ded1 © ?

A. 97 B B. 99X %

C. ooff vd FHER gl D. S99 ¥ ®Is w8

In which of the following combination the value of resistance

increases?
A. Series B. Parallel

C. Both series and parallel D. None of these

13, FEOI 9 T DI Gafd B T

A. HTAD B. aR<fd®
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C. Idfdd Td dreuf=a <91 D. 3989 9 dis Aol

Nature of magnetic lines of force is

A. Imaginary B. Real

C. Both Real and imaginary D. None of these

14, 1 fhdare—ser fodd ReR 8ar g ?
A 0.36 x 10" 5= B. 1.6 x 107" S
C. 3.6 x 10° 5= D. 579 | ®Is &l

1 Kilowatt-hour is equal to -

A. 0.36 x 10" Joule B. 1.6 x 107"° Joule

C. 3.6 x 10° Joule D. None of these

15. TNHNT FHoil BT AT T & 2
A TSI Holl B. ¥R &l

C. BT | UK Sl D. urspfae 19 4 U Iholl

What is the source of Renewable energy ?
A. Nuclear Energy B. Solar Energy

C. Coal Energy D. Natural Gas Energy

16. I T o AR of T 9T HeT ST 8 2

A ITdd o9 B. S o1
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C. 31dddl Td 3T o Sl D. 98 9 @l 8

Which lens is also known as diverging lens ?
A. Concave lens B. Convex lens

C. Both Concave and Convex lens D. None of these

17.  USHT & YafAe aof o 7 ?
A. AT B. e

C. & D. SWRIad |

Which is the Primary colour of Light ?
A. Red B. Blue
C. Green D. All of these

18. fereforRad & & &9 97 &1 i 9T gar © ?
A. Biftar B. gt
C. e D. ameR¥

Which of the following part of eye is coloured ?
A. Cornea B. Pupil
C. Retina D. Iris

19. 1 HP sRTeR © —

A. 746 aic B. 760 darc
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C. 780 drc D. 550 @re
1 HP is equal to -

A. 746 watt B. 760 watt
C. 780 watt D. 550 watt

20.  foumers ofrem (BT @) BT § —
A. ITdd o9 B. S i
C. 31addl guur D. ST guor

Magnifying glass is -
A. Concave lens B. Convex lens

C. Concave mirror D. Convex mirror

21. o9 f& e aR A fQAga—urT garfza gt g ar i o € ?

A. TH1] B. 3mad

C. yre D. sciagA

When electric current flows through a conducting wire then moving
Particle is ?

A. Atom B. ion

C. Proton D. Electron

22. VARR—geT 95d § —
A wIfdd &1 B. 3 &T

10
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C. Soff &l D. 5974 9 ®Is A

ampere-hour is unit of -
A. Power B. Charge

C. Energy D. None of these

23.  fo=ferRaa & o9 1 95@ 9c (W) & aR1aR 8 ?
A J/S B. J.S
C. S/J D. s 9| ®Ig 2l
Which of the following unit is equal to Watt ?

A. J/S B. J.S
C. S/J D. None of these

24,  fIEId ORT &7 HHD © —

A R B. dlce

C. 3 D. 9@

The unit of electrical current is
A. Ampere B. Volt
C. Ohm D. Watt

25. Toligel aifiT & foTy STReR) I+ © ?

A O, B. NH;

11
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C. CO, D. Ny

Which gas is responsible for global warming ?
A. O, B. NH;

C. CO, D. Ny

26. IR | 9o BT U=l fbd bR &l ifffhar 2 ?
A ST B. Ao
C. fazemu= D. mgaad

Which type of reaction is digestion of food in body ?

A. Oxidation B. Combination

C. Displacement D. Reduction

27.  Pell AT R OG STal STAT St 2, 9 ifafear gxch @
A. SR B. ST
C. fepies D. 7 9 &5 el

Which type of reaction occurs when water is dropped on quick

lime?
A. Exothermic B. Endothermic
C. Explosive D. None of these

28. frTifhd # iv g9 31fere srfafhareiiar 2 ?

12
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A.Cu B. Hg
C.Ag D. Au

Which of the following is the most reactive ?

A. Cu B. Hg
C. Ag D. Au
29. AT Ofcl &I ARG GH & —
A. CaO B. CaCl;
C. CaOCl, D. Ca(OH),

The chemical formula of lime water is -

A. CaO B. CaCl,
C. CaOCl, D. Ca(OH),
30. PIs Aot el fofeass & el &= <aT 8, Sl pH A9 81T —
A 11 B. 10
C.5 D. ‘A’ 3R ‘B’ gFi

A solution turns red litmus into blue, its pH value is -

A. 11 B. 10
C.5 D. ‘A’ and ‘B’ both

31, UohIgd H hlad—dhlad & g9 fhdd Teddioid 99 8ld © °
A 1 B. 2

13
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C.3 D. 4

How many covalent bonds are there between C-C atoms in

alkyne?
A. 1 B. 2
C.3 D. 4

32.  TCIISl & IMMfvad G T © ?
A. CgH1206 B. CH;COOH

C. CH;CHO D. CHCI;
What is the molecular formula of glucose ?
A. CsH1206 B. CH;COOH
C. CH;CHO D. CHCI3

33. I T Il B AIfSTH 9T HEdd & —
A. AT B. JHTSI®
C. wiRe® D. IR

Sodium salts of higher fatty acids are known as -
A. Soap B. Detergent

C. Plastic D. Rubber

34.  -CHO arfafshamsfial Joid &1 @ed & —
A tfcserss B. Uepretdl

14
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C. ®lcH D. s ¥ &®Is 8
Functional group —CHO is known as
A. Aldehyde B. Alcohol

C. Ketone D. None of these

3. 3fad AR & BT Srad H q A SR S R deal @l uRET] Eean —

A. gt B B. ugel Tedl § SR Y 9l o |
C. sRafida & 2| D. sl & |

On moving from left to right in a period of periodic table, atomic
radius of element -
A. decreases B. first decreases and then increase

C. does not change D. increases

36.  fAIfohd Il ®I ST ST 0T & AR dgd HA H Follg

Li, O, C, Be, F
A. F<O<C<Bex<Li B. Li<Be<C<O<F
C. F<O<C<Li<Be D. F<O<Be<C<Li

Arrange the following elements in the order of their increasing non-

metallic character Li, O, C, Be, F -
A. F<O<C<Bex<Li B. Li<Be<C<O<F
C. F<O<C<Li<Be D. F<O<Be<C<Li

37. Rafore T 8 ?

15
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A. o1q B. 37T
C. SUTqg D. 379 & &g 78l

What is Silicon ?

A. metal B. non-metal

C. metalloid D. None of these
38.  fHifed # & fag@ g9eAs 9@ & 2

A C B. Cl

C. Na D.P

Which of the following is an electropositive element ?
A.C B. Cl
C. Na D.P

39. fegr dty &1 fomior o yeor & fhar mar g ?

A ST U B. StTRIES
C. o= D. f9gR

Tehri dam has been constructed in which state ?
A. Uttar Pradesh B. Uttarakhand
C. Rajasthan D. Bihar

40.  fifed # fha arg & SR # S8 R I@d § ?

16
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A. =R B. |ifead
C. UN1 D. %A

Which of the following element is stored in Kerosene oil ?

A. Magnesium B. Sodium

C. Mercury D. Tungston
41, 3OS W 99N ST & —

A 9% TaEd B. 3y

C. goil 9% D. SWRiad a4

Which of the following is made from detergent.

A. Surf excel B. Shampoo

C. Easy Surf D. All of the above

42. IR I # frgepr SuanT gidr g ?

A, ©R<® B. faferat=
C. I\ D. @A
Which is used in Solar Cell ?

A. Plastic B. Silicon

C. Uranium D. Plutonium

43, fore=forRaa & 9 frdar START WA 999 dTel Su9 § T8 8idT § ?

17
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A. C.N.G. B.L.P.G.

C. 9r1 i D. el

Which of the following is not used in cooking fuel ?
A. C.N.G. B. L.P.G.

C. Biogas D. Coal

44, 2Cu+ 0, — 2Cu0® —

A. JATRITHIT B. amgeed

C. SeTHI®BRIT D. fazermg=

2Cu+ 0, —> 2CuO is -

A. Oxidation B. Decomposition

C. Neutralization D. Displacement

45.  f=faRad # o9 |1 wiEwr dqfera T8 8 2

A. Hy + Cl, — 2HCI B. Pb(NO3), — PbO + NO, + O,

C.2H, + O, > 2H,0 D. 2KCIO; — 2KClI + 30,

Which of the following is not a balanced equation ?

A. H, + Cl, = 2HCI B. Pb(NO3)2 —> PbO + NO, + O,

C.2H; + O, > 2H,0 D. 2KCIO; — 2KClI + 30,

18
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46, eI faera &1 pH @19 81T & —
A7 B. 8
C.6 D. 14

The pH value of a neutral solution is -

A.7 B. 8

C.6 D. 14
47.  f=faRed 4 o4 gda svt € 2

A. HNO; B. HCI

C. CH;COOH D. H,SO4

Which of the following is a weak acid ?

A. HNO; B. HCI
C. CH;COOH D. H,SO,
48. HTATATSE D & —
A. TraT &1 B. SIgT &1
C. H=I¥mH &1 D. vegfAf T &1

Cryolte is an ore of -
A. Copper B. Iron

C. Magnesium D. Aluminium

19
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49.  URCRIH &I WA HE&T T —
A 17 B. 18
C. 19 D. 20

The atomic number of Potassium is -
A. 17 B. 18
C.19 D. 20

50. Bifi® T &1 IUPAC 99 & —
A TIP3 B. WIuAIs® 3T
C. VHIgh T D. 594 9 ®Is A8

The IUPAC name of formic acid is -

A. Methanoic acid B. Propanoic acid

C. Ethanoic acid D. None of these
51.  3ARA Ichigel &I AA & —

A. CH;0H B. C,H,OH

C. C,HsOH D. C;HsOH

Molecular formula of ethyl alcohol is -
A. CH;0H B. C,H,OH

C. C,HsOH D. C;HsOH

20
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52. Uodhls hIF © ?
A. CyH, B. C,H;

C. CH, D. C,H,4

Which is alkyne ?
A. CoH, B. CoHs
C. CH, D. C,H,
53. @M &I NS G —
A. CsH1206 B. C12H22014

C. CH;COOH D. CH3;CHO
Chemical formula of Sugar is -
A. C6H1206 B. C12H22011

C. CH;COOH D. CH3;CHO

54. THIfeeie H Plad—dhled & ad Geadiold 98- P AT © —
A 5 B. 7
C. 2 D. 3

The number of covalent bonds between carbon-carbon atoms in
acetylene is -

A.5 B.7

C. 2 D.3

21
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55. Y99 @ S¥TA b oy SUANT fBY ST arel IS § —
A T B. 3igRa 4ot
C. IcT a1l &I D. @t 8¢ &Sl

Seeds used for the study of respiration are
A. Dry Seeds B. Germinating Seeds
C. Boiled Seeds D. Crushed Seeds

56.  HIMd gadb (b YoTlell &I Udh 31 8 ?
A. dIyor B. waa+

C. I D. uRagd

The kidneys in human beings are a part of which system ?
A. Nutrition B. Respiration

C. Excretion D. Transportation

57. qien § W™ fAeifed § 9 fhas uRagd & fow feeR € ?
A. T B. ¥IoH
C. THHI TS D. 3ffe=iIo=

The xylem in plants is responsible for the transportation of which of

the following ?
A. Water B. Food

C. Amino acid D. Oxygen

22
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58. IqA @ AR B A A9 FAdvad g ?
A. CO, B. CO
C. N, D. O,

Which gas is evolved during respiration ?

A. CO, B. CO
C. N2 D. 02

59. Bell & Ubd o = § 9 fFaw g fear oar g 2
A. SR B. fSerfora
C. gl | D. |rgci®s=a

Ripening of fruits is controlled by which of the following ?
A. Auxin B. Gibberellin

C. Ethylene D. Cytokinin

60.  <IRA P 98 AT &I ISR RIS &l Sl & — 2
A sgIge B. <if3rerer
C. Il fyvs D. a3 i

Part of the neuron where information acquired is - ?
A. Dendrite B. Axon

C. Cell body D. Nerve ending

61. f=ifhd o & B MUTdhT BT AT & 2

23
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A TRSfeE B. T
C. URTINEN D. dfedcHH

Which of the following is Hormone of emergency ?
A. Adrenaline B. Estrogen

C. Parathormone D. Calcitonin

62. fereforRag & & @19 ) sHfee fhar =8 2 2
A. 3ol B. e ok et

C. fca o1 usaH D. 9T

Which of the following is not an involuntary action ?

A. Vomiting B. Salivation

C. Heart beat D. Chewing
63. A4 H TH @ qafd fha g ?

A. 270 feT B. 290 faH
C.200 feo D. 245 feH

What is gestation period in human ?

A. 270 days B. 290 days

C. 200 days D. 245 days
64. T YRR WIH e Yo gl ?

A. 1973 B. 1985

24
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C. 1971 D. 1983

When was Ganga action plan started ?

A. 1973 B. 1985
C. 1971 D. 1983

65.  HHod R 3l S frfifed frad gar & ?
A e B. wiroHifsTH
C. arHler D. 594 ®Is gl

By budding, asexual reproduction occurs in which of the following?
A. Yeast B. Plasomodium

C. Amoeba D. None of these

66. = & 9 - S9N eaas @ defd @ ?
A. SEIRAT B. <o dio
C. Fmifar D. (B) ©d (C) =t

Which of the following diseases are related to respiratory system ?
A. Diarrhoea B. Tuberculosis
C. Pneumonia D. Both (B) and (C)

67. WIS 3R I AMERI Siig F=faRad # fhdepr ureas w8 #R urd ?

A 9Id B. Segalrdt
C. g4 D. 98 9 9

25
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Which of the following is not digested by human being and other

Carnivorous animals ?
A. Protein B. Cellulose

C. Fat D. All of these

68. S BHNG Bl YT HRUT B —
A. BrSUIce B. ggJgrd
C. BSWReIH D. gererd

Main reason of brain haemorrhage is
A. Hypotension B. Heart attack

C. Hypertension D. Paralysis

69. 1 o 9 URoIdT UTqy T SeIeNY T 8 7

A. TR B. &¥a@el

C. fauroy D. ®d&

Which of the following is an example of Parasitic Plant ?
A. Bacteria B. Cuscuta

C. Virus D. Fungus

70.  §&d W I9d P Yl IRR ¥ Uy AT S § —
A BHSl gRI B. et g1

26
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C. arfofer grT D. 594 9 a4

Blood is pumped to whole body from heart by
A. Lungs B. Ventricle

C. Auricle D. All of these

71. gl H 3reifiie o= & fafyr @ —

A. gt B. Yo

C. fags D. fasiopst=
Asexual reproduction process in Hydra is -

A. Budding B. Regeneration

C. Fission D. Spore Formation

72. ST FaTRd YT § —
A. Riwfera B. Tsd
C. T=IRar D. 578 |

Sexually Transmitted Disease is -
A. Syphilis B. AIDS

C. Gonorrhoea D. All of the above

73, U &7 9 9 W0 ® —

A. 98T Ty B. Tagw
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C. JbaR D. ElbaR

Outermost part of flower is
A. Sepal B. Petal

C. Stamen D. Pistil

74, IS 98 A ¥ DI |1 GIErS! Blar § ?
A ‘@ B. ‘ab’
C.p D. ‘O’

Which antibody is found in blood group A -

A ‘@ B. ‘ab’
C.p D. ‘O’
75.  Xqd H Tl @ AT fAEifed § 9 @ T8 Eia axar @ -
A. sgfera B. T[T
C. iR D. AR

In blood, amount of glucose is not controlled by which of the

following ?

A. Insulin B. Glucagon

C. Gastrin D. Somatostatin
76.  UIGY gig MM & —

A. frerfer B. ufgHferd
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C. sgferd D. arRifdas

Plant growth hormone is -

A. Gibberellins B. Adrenaline
C. Insulin D. Thyroxine
77. graf= wfad gar g —
A. 3id: grfad U 9 B. sfegrdr ufar 4
C. AfetpT | D. 398 9 &l 8

Hormones are secreted from
A. Endocrine gland B. Exocrine gland
C. Tube D. None of these

78. A9 @ H9@ @1 H fhad SIs oIR AR ug S € °?
A TH B. &
C. D. IR

How many pairs of Salivary glands are found in human buccal

cavity ?
A. One B. Two
C. Three D. Four

79. Tgroid 8§ —
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A. A B B. B BN
C. ua® 39 D. URTTERIZS &AM

Androgen hormone is -
A. Male hormone B. Female hormone

C. Digestive juice D. Parathyroid hormone

80. TR Bl I(UT WANT & ford fopa gm ?
A Hsd B. sIfda
C. D D. TR

Who selected pea as his experimental material ?
A. Mendal B. Darwin
C. Lamarck D. Khorana

Wuvs—9 (Section-B)

Hifd® I (Physics)

o S8 939 (Short Answer Type Questions)

U AT 1 W 8 Tb oy SN 2| 599 U el 4 Ul B IR < | YD U D
forl 2 3f FEiRa 2 | (4x2=8)
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. (4x2=8)

1. YT & < & a4 BT ford | 2
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Write the laws of Refraction of light.

2, STl 3R W1 &1 JUd<iis HA: 4 /3 AT 3/2 B S99 A IAdH |

GBI &I I ST B | 2
The refractive indices of water and glass are 4/3 and 3/2
respectively. Find the speed of light in each of them.

3, fOSH & IR UBII & (YA BT fhvoT IR Wi | 2

Draw a ray diagram showing refraction of light through a prism.

4. SITaTed U9 T 87 SUD &l SNyl ¢ | 2

What is fossil fuel? Give two examples.

5. faea fawa & = ¥ 8 2 2
What do you mean by electric potential?

6. “TFATHT T amHed ) ford | 5
Write the “Fleming’s left hand rule.”

7. foel aretd &1 UfeRE fo dR®T W) ¥R HRar 87 2
On which factors does the resistance of a conductor depend ?
8. AER fawsT @ g ? 2

What is nuclear fission ?

4" 99" 939 (Long Answer Type Questions)
9 AT 9 3R 10 Y SR U 2| 598 I fHdl U & SR & | UAh U B
foTu 6 3f YR B 1 1x6=6

Question Nos. 9 and 10 are Long Answer Type questions. Answer any one

of them. Each question carries 6 marks. 1x6=6
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9. IRMETE] AeTd & ga—RTa o &3 I 8@l ¢ | 9 @™ & forg
JAREE & TINT BT oI P |
Describe Oersted experiment to show the magnetic field produced
around a current carrying wire..

10. gfe AW ®M 22 I fFd UHR & B €, 30 DY d fHAr S AHhan
g 7 i auie o |
What is defect of vision? What are the types of defects of vision?

How it can be cured? Explain with a neat diagram.

I I (Chemistry)

o S8 939 (Short Answer Type Questions)

U AT 11 9§ 18 T oY SIRIY & | 378 I (el 4 Ul Bl IR < | AP U

& forg 2 o FEiRa §) (4x2=8)

Question no. 11 to 18 are Short Answer Type questions. Answer any 4

questions. Each question carries 2 marks. (4x2=8)

11, AdfeTd IARID AHIBROT T 87 BT Udb IQTERUT § | 2

What is a balanced chemical equation? Give an example.

12, 9ad 1 87 Tb gad Bl a4 (o | 2

What is an indicator? Write the name of an indicator.

13.  SifRfIeRS w7 87 2
What is an oxidising agent ?
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14, RO 9T 3? AIGTERT A | 2
What is corrosion? Explain with example.
15.  fr=rifeha el &1 dqfera o | 2
(i) BaCl, + H,SO, — BaSO, + HCI
(i)  MnO, + HCI —> MnCl, + Cl, + H,O

Balance the following chemical equations —

(I) BaC|2 + H2804 —> BaSO4 + HCI

(i)  MnO, + HCl —> MnCl, + Cl, + H,0

16. AEGATST §99 T 87 < SN0 ¢ | 2

What is covalent bond? Give two examples.

17. 7T 3R = #H TT 3R ford | 2

Write two differences between acids and bases.
18. Jormerg Hoft /T 8?7 U IQTERT ¢ | 2

What is a homologous series? Give an example.

<" S99 939 (Long Answer Type Questions)
U9 AT 19 IR 20 3 SR 2] 399 I bl Uh BT SR T | TS U B
foTe 5 3f fAgiRa g 1x5=5

Question Nos. 19 and 20 are long answer type. Answer any one of them.

Each question carries 5 marks.

19. O & J&I JARH 1 AW (0% | ST BT I b I [TBY0T B

quie P | 5
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Write the name of main ore of Zinc. Describe the extraction of zinc
from its ore.
20.  UIgfae AAEE] & RV Ud e § MY T A § 2 5

What do you understand about conservation and management of

natural resources ?

Siild fasi= (Biology)

o ST 939 (Short Answer Type Questions)

U AT 21 9§ 28 T Y SR & | 379 I (b8l 4 U1 B IR < | AP U

& forg 2 3fp EiRT 2| 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8

21. fhva T 27 I8 Pl BT 27 2

What is fermentation? Where does it occur?

22. 9qg- 3N YhTI HYI¥UT H 3N e P | 2

Differentiate between respiration and photosynthesis.

23, ORTIREH ¥ 4199 & ugadr 7 ? 2

How does food reach inside the paramoecium ?
24.  Sfal & forw ot it erfard g 2 2
Why is nutrition essential for living beings ?

25.  <TERM (fdefl) @1 & ? 39al &1 d © 2 2
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What is Villi? What is its function ?

26. U BT el UhTdTell B Ff el Sidl & 2 2

Why Ethylene called ‘ripening fruits’ as phytohormone?
27. UGRIGIdT &1 & ? 2
What is Phototropism ?

28. THESIT ST Pl GRHTYT ISTEN0T & 1 ¢ | 2

Define analogous organ with examples.

4" ST 939 (Long Answer Type Questions)
9T GIT 29 AR 30 <" IR & 599 O Bl U BT SR S| Ub U B
foru 5 3fe MERT T | 1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.

Each question carries 5 marks. 1x5=5

29. TfrdT T BT AMifhd o & A1 WHSSU |

Explain the nervous system with well labelled diagram.

30. TRETOT fohd BhEd 27 SNyl Aied gy |

What is Pollination ? Explain with examples.
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